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LAPLOSHKA was one of the meanest men I have ever met. and quite one of the most entertaining. He said
horrid things about other people in such a charming way that one forgave him for the equally horrid things he
said about oneself behind one's back. hating anything in the way of ill-natured gossip ourselves, we are always
grateful to those who do it for us and do it well . And Laploshka did it really well.

Naturally Laploshka had a large circle of acquaintances. and as he exercised some care in their selection
it followed that an appreciable proportion were men whose bank balances enabled them to acquiesce
indulgently in his rather one-sided views on hospitality, Thus , although possessed of only moderate means. he
was able to live comfortably within his income. and still more comfortably within those of various tolerantly
disposed associates.

But towards the poor or to those of the same limited resources as himself his attitude was one of watchtul
anxiety: he seemed to be haunted by a besetting fear lest some fraction of a shilling or franc, or whatever the
prevailing coinage might be, should be diverted from his pocket or service into that of a hard-up companion.

A two-franc cigar would be cheerfully offered to a wealthy patron .on the principle of doing evil that good
may come .but I have known him indulge in agonies of perjury rather than admit the incriminating possession
of a copper coin when change was needed to tip a waiter. The coin would have been duly returned at the
earliest opportunity- he would have taken means to ensure against forgetfulness on the part of the borrower -
but accidents might happen. and even the temporary estrangement from his penny or sou was a calamity to be
avoided .

The knowledge of this amiable weakness offered a perpetual temptation to play upon Laploshka's fears of
mvoluntary generosity. To offer him a lift in a cab and pretend not to have enough money to pay the fare. to
fluster him with a request for a sixpence when his hand was full of silver just received in change .these were a
tew of the petty torments that ingenuity prompted as occasion afforded. To do justice to Laploshka's
resourcefulness it must be admitted that he always emerged somehow or other from the most embarrassing
dilemma without in any way compromising his reputation for sayving "No". But the gods send opportunities at
gome time to most men .and mine came one evening when Laploshka and I were supping together in a cheap
boulevard restaurant. (Except when he was the bidden guest of some one with an irreproachable income.
Laploshka was wont to curb his appetite for high living :on such fortunate occasions he let it go on an easy
snaffle.) At the conclusion of the meal a somewhat urgent messsage called me away and without heeding my
companion's agitated protest, I called back cruelly, "Pay my share: I'll settle with you tomorrow.” Early on the
morrow Laploshka hunted me down by instinct as I walked along a side street that I hardly ever frequented .
He had the air of a man who had not slept.

"You owe me two francs from last night," was his breathless greeting.

Sub questions

Question Number : 1 Question Id : 6863409922 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The acquaintances of Laploshka accepted his one-sided views on hospitality because :

1. They had great admiration for Laploshka, the charm

[ §])

. They had ample bank-balance to indulge an entertainer like Laploshka

L]

. They had a great sense of sympathy for Laploshka who was not so nice

s

. They wanted to flaunt their richness in front of Laploshka



Options :

68634039201. 1
68634039202. 2
68634039203. 3
68634039204. 4

Question Number : 2 Question Id : 6863409923 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The knowledge of this amicable weakness offered a perpetual temptation to play upon Laploshka's fears of
involuntary generosity :

The underlined phrase refers to:
1. Laploshka's inclination to form friendships with affluent men.
2. Laploshka's habit of lying when the borrower asked for money.
3. Laploshka's inability to part with his money and his obsession to secure it.
4. Laploshka's principle of doing evil that good may result .

Options :

68634039205. 1
686340392006. 2
68634039207 3
68634039208. 4

Question Number : 3 Question Id : 6863409924 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following can be inferred from the excerpt.

A. The author wanted to inflict petty torments on Laploshka for fun.

B. Laploshka chose to befriend the affluent and steered clear of the poor.

C. Laploshka curbed his appetite when dining with rich friends.

D. Laploshka was haunted by the fear of losing his two franks of the author.

E. The anthor was a cruel man who mtended to torture Laploshka.

1.Band C

| B

.Dand E
3.ACE only
4. AB and D only

Options :
68634039209. 1



68634039210. 2
68634039211. 3
68634039212. 4

Question Number : 4 Question Id : 6863409925 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match the expressions in list I with their meanmg/extension in list I

Match List I with List II

LIST1I LISTIT
Ajﬁ?dbﬂmmm% 1 |pursued me till he caught me
Gods send ] S .
B kesoamentsmni | 15 to trap Laplosh.ka mto mvoluntary
penerosity
men
& Ysied wiedswg e esh:angemem from his penny to the
advantage of someone poor
the author's chance to sup with
D. |perpetual temptation IV. |Laploshka at a boulevard
restaurant.

Choose the correct answer from the options given below:

1. A-III : B-1 :C-I1: D-IV
2AJJI:B-IV:C-I:D-II
JAJL:B-III: C-IV: D-I
4 A-1:B-II:C-IIL: D-IV

Options :

68634039213. 1

68634039214. 2

68634039215. 3
68634039216. 4

Question Number : 5 Question Id : 6863409926 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The author's tone in the passage 13 :

1. humorous

2. serious
3. pedautic
4. harsh

Options :
68634039217. 1



68634039218. 2
68634039219. 3
68634039220. 4

Question Id : 6863409921 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension

LAPLOSHEKA was one of the meanest men [ have ever met. and quite one of the most entertaining. He said
horrid things about other people in such a charming way that one forgave him for the equally horrid things he
said about oneself behind one's back. hating anything in the way of ill-natured gossip ourselves, we are always
grateful to those who do it for us and do it well . And Laploshka did it really well.

Naturally Laploshka had a large circle of acquaintances. and as he exercised some care in their selection
it followed that an appreciable proportion were men whose bank balances enabled them to acquiesce
indulgently in his rather one-sided views on hospitality. Thus , although possessed of only moderate means. he
was able to live comfortably within his income, and still more comfortably within those of various tolerantly
disposed associates.

But towards the poor or to those of the same limited resources as himself his attitude was one of watchful
anxiety: he seemed to be haunted by a besetting fear lest some fraction of a shilling or frane, or whatever the
prevailing coinage might be, should be diverted from his pocket or service into that of a hard-up companion.

A two-franc cigar would be cheerfully offered to a wealthy patron .on the principle of doing evil that good
may come .but I have known him indulge in agonies of perjury rather than admit the ineriminating possession
of a copper coin when change was needed to tip a waiter. The coin would have been duly returned at the
earliest opportunity- he would have taken means to ensure against forgetfulness on the part of the borrower -
but accidents might happen. and even the temporary estrangement from his penny or sou was a calamity to be
avoided .

The knowledge of this amiable weakness offered a perpetual temptation to play upon Laploshka's fears of
involuntary generosity. To offer him a lift in a cab and pretend not to have enough money to pay the fare. to
fluster him with a request for a sixpence when his hand was full of silver just recerved in change .these were a
tew of the petty torments that ingenuity prompted as occasion afforded. To do justice to Laploshka's
resourcefulness it must be admitted that he always emerged somehow or other from the most embarrassing
dilemma without in any way compromising his reputation for saying "No". But the gods send opportunities at
gome time to most men .and mine came one evening when Laploshka and I were supping together in a cheap
boulevard restaurant. (Except when he was the bidden guest of some one with an nrreproachable income.
Laploshka was wont to curb his appetite for high living :on such fortunate occasions he let it go on an easy
snaffle.) At the conclusion of the meal a somewhat urgent messsage called me away and without heeding my
companion's agitated protest, I called back cruelly, "Pay my share: I'll settle with you tomorrow.” Early on the
morrow Laploshka hunted me down by instinct as I walked along a side street that I hardly ever frequented .
He had the air of a man who had not slept.

"You owe me two francs from last night," was his breathless greeting.

Sub questions

Question Number : 1 Question Id : 6863409922 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The acquaintances of Laploshka accepted his one-sided views on hospitality because :

1. They had great admiration for Laploshka, the charm

[ ]

. They had ample bank-balance to indulge an entertainer like Laploshka

[ 5]

. They had a great sense of sympathy for Laploshka who was not so nice
4. They wanted to flaunt their richness in front of Laploshka

Options :

68634039201. 1
68634039202. 2
68634039203. 3
68634039204. 4

Question Number : 2 Question Id : 6863409923 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The knowledge of thiz amicable weakness offered a perpetual temptation to play upon Laploshka's fears of
involuntary generosity :

The underlined phrase refers to:

1. Laploshka's inclination to form friendships with affluent men.

[ ]

. Laploshka's habit of lying when the borrower asked for money.
3. Laploshka's inability to part with his money and his obsession to secure it.
4. Laploshka's principle of doing evil that good may result .

Options :

68634039205. 1
68634039206. 2
68634039207 3
68634039208. 4

Question Number : 3 Question Id : 6863409924 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following can be mferred from the excerpt.
A. The author wanted to inflict petty torments on Laploshka for fun.
B. Laploshka chose to befriend the affluent and steered clear of the poor.
C. Laploshka curbed his appetite when dining with rich friends.
D. Laploshka was haunted by the fear of losing his two franks of the author.
E. The author was a cruel man who intended to torture Laploshka.
1.Band C
2.DandE
3.A.CE only

4. AB and D only

Options :

68634039209. 1
68634039210. 2
68634039211. 3
68634039212. 4

Question Number : 4 Question Id : 6863409925 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match the expressions in list [ with their meaning/extension in list IT

Match List T with List IT

LIST1 LIST IT
A ?::lmed By s 1. |pursued me till he caught me
Gods send ] S .
B. |upportanitientomost | 10 to trap La}_:uloshka nto involuntary
Ceferosity
men
&t e disw i estrangement from his penny to the
: " |ladvantage of someone poor
the author's chance to sup with
D. |perpetual temptation IV |[Laploshka at a boulevard
restaurant.

Choose the correct answer from the options given below:

1. A-IIL : B-1 :C-11 : D-IV

| B

VAV B-IV : C-1: D-II

JAII:B-IIT: C-IV : D-1

4 A-1:B-II: C-IIT: D-IV



Options :

68634039213. 1
68634039214. 2
68634039215. 3
68634039216. 4

Question Number : 5 Question Id : 6863409926 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The author's tone in the passage is ;

1. humorous

-

2. serious
3. pedautic
4, harsh

Options :

68634039217. 1
68634039218. 2
68634039219. 3
68634039220. 4

Question Id : 6863409921 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)

Question Label : Comprehension



LAPLOSHKA was one of the meanest men I have ever met. and quite one of the most entertaining. He said
horrid things about other people in such a charming way that one forgave him for the equally horrid things he
said about oneself behind one's back. hating anything in the way of ill-natured gossip ourselves, we are always
grateful to those who do it for us and do it well . And Laploshka did it really well.

Naturally Laploshka had a large circle of acquaintances. and as he exercised some care in their selection
it followed that an appreciable proportion were men whose bank balances enabled them to acquiesce
indulgently in his rather one-sided views on hospitality, Thus , although possessed of only moderate means. he
was able to live comfortably within his income. and still more comfortably within those of various tolerantly
disposed associates.

But towards the poor or to those of the same limited resources as himself his attitude was one of watchtul
anxiety: he seemed to be haunted by a besetting fear lest some fraction of a shilling or franc, or whatever the
prevailing coinage might be, should be diverted from his pocket or service into that of a hard-up companion.

A two-franc cigar would be cheerfully offered to a wealthy patron .on the principle of doing evil that good
may come .but I have known him indulge in agonies of perjury rather than admit the incriminating possession
of a copper coin when change was needed to tip a waiter. The coin would have been duly returned at the
earliest opportunity- he would have taken means to ensure against forgetfulness on the part of the borrower -
but accidents might happen. and even the temporary estrangement from his penny or sou was a calamity to be
avoided .

The knowledge of this amiable weakness offered a perpetual temptation to play upon Laploshka's fears of
mvoluntary generosity. To offer him a lift in a cab and pretend not to have enough money to pay the fare. to
fluster him with a request for a sixpence when his hand was full of silver just received in change .these were a
tew of the petty torments that ingenuity prompted as occasion afforded. To do justice to Laploshka's
resourcefulness it must be admitted that he always emerged somehow or other from the most embarrassing
dilemma without in any way compromising his reputation for sayving "No". But the gods send opportunities at
gome time to most men .and mine came one evening when Laploshka and I were supping together in a cheap
boulevard restaurant. (Except when he was the bidden guest of some one with an irreproachable income.
Laploshka was wont to curb his appetite for high living :on such fortunate occasions he let it go on an easy
snaffle.) At the conclusion of the meal a somewhat urgent messsage called me away and without heeding my
companion's agitated protest, I called back cruelly, "Pay my share: I'll settle with you tomorrow.” Early on the
morrow Laploshka hunted me down by instinct as I walked along a side street that I hardly ever frequented .
He had the air of a man who had not slept.

"You owe me two francs from last night," was his breathless greeting.

Sub questions

Question Number : 1 Question Id : 6863409922 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The acquaintances of Laploshka accepted his one-sided views on hospitality because :

1. They had great admiration for Laploshka, the charm

[ §])

. They had ample bank-balance to indulge an entertainer like Laploshka

L]

. They had a great sense of sympathy for Laploshka who was not so nice

s

. They wanted to flaunt their richness in front of Laploshka



Options :

68634039201. 1
68634039202. 2
68634039203. 3
68634039204. 4

Question Number : 2 Question Id : 6863409923 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The knowledge of this amicable weakness offered a perpetual temptation to play upon Laploshka's fears of
involuntary generosity :

The underlined phrase refers to:
1. Laploshka's inclination to form friendships with affluent men.
2. Laploshka's habit of lying when the borrower asked for money.
3. Laploshka's inability to part with his money and his obsession to secure it.
4. Laploshka's principle of doing evil that good may result .

Options :

68634039205. 1
686340392006. 2
68634039207 3
68634039208. 4

Question Number : 3 Question Id : 6863409924 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following can be inferred from the excerpt.

A. The author wanted to inflict petty torments on Laploshka for fun.

B. Laploshka chose to befriend the affluent and steered clear of the poor.

C. Laploshka curbed his appetite when dining with rich friends.

D. Laploshka was haunted by the fear of losing his two franks of the author.

E. The anthor was a cruel man who mtended to torture Laploshka.

1.Band C

| B

.Dand E
3.ACE only
4. AB and D only

Options :
68634039209. 1



68634039210. 2
68634039211. 3
68634039212. 4

Question Number : 4 Question Id : 6863409925 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match the expressions in list I with their meanmg/extension in list I

Match List I with List II

LIST1I LISTIT
Ajﬁ?dbﬂmmm% 1 |pursued me till he caught me
Gods send ] S .
B kesoamentsmni | 15 to trap Laplosh.ka mto mvoluntary
penerosity
men
& Ysied wiedswg e esh:angemem from his penny to the
advantage of someone poor
the author's chance to sup with
D. |perpetual temptation IV. |Laploshka at a boulevard
restaurant.

Choose the correct answer from the options given below:

1. A-III : B-1 :C-I1: D-IV
2AJJI:B-IV:C-I:D-II
JAJL:B-III: C-IV: D-I
4 A-1:B-II:C-IIL: D-IV

Options :

68634039213. 1

68634039214. 2

68634039215. 3
68634039216. 4

Question Number : 5 Question Id : 6863409926 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The author's tone in the passage 13 :

1. humorous

2. serious
3. pedautic
4. harsh

Options :
68634039217. 1



68634039218. 2
68634039219. 3
68634039220. 4

Sub-Section Number : 2
Sub-Section Id : 686340324
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 6 Question Id : 6863409927 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
A |The bride and groom walked slowly down the | I |ourse
B. [She can't abide language and stupidityv. II. foarse
C. |[He was pained to see tears down her cheeks. 111 hsle
D [l wish to visit the remote of skve. IV faisle

Choose the correct answer from the options given below:

1A :B-11: C-1: D-IV

| B

CA-TILB-1: C-I1: D- TV
3. A-IV: B-II: C-1 ; D-III
4. A-IV: B-I: C-II. D-III

Options :

68634039221. 1
68634039222. 2
68634039223. 3
68634039224. 4

Question Number : 6 Question Id : 6863409927 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LIST1I LISTII
A |The bride and groom walked slowly down the | L fourse
B. [She can't abide language and stupidity. II. foarse
C. |He was pained to see tears down her cheeks. IIL. hsle
D [l wish to visit the remote of skve. IV faisle

Choose the correct answer from the options given below:

1A :B-11: C-1: D-IV

| B

CA-TILB-1: C-II: D- IV
3. A-IV, B-II: C-1 ; D-III
4. A-IV: B-I: C-II; D-III

Options :

68634039221. 1
68634039222, 2
68634039223, 3
68634039224. 4

Question Number : 6 Question Id : 6863409927 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
A |The bride and groom walked slowly down the | L fourse
B. [She can't abide language and stupidityv. II. fcoarse
C. |He was pathed to see tears down her cheeks. 111 |isle
D. [ wish to visit the remote of skve. IV. faisle

Choose the correct answer from the options given below:

1LA-IIT: B-1I: C-1: D-IV

| B

CA-TILB-1: C-I1: D-TV
3. A-IV, B-II: C-I ; D-III
4. A-IV: B-I: C-II; D-III

Options :

68634039221. 1
68634039222. 2
68634039223. 3
68634039224. 4

Question Number : 7 Question Id : 6863409928 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
Choose the correct option to change the following sentence into passive voice:-
It is believed that the thieves got in through the kitchen window.

1. It 18 believed that the thieves were got in through the kitchen window.

b2

. The thieves are believed to have got in through the kitchen window.
3. The thieves were believed to have got in through the kitchen window.
4. It was believed that the thieves had got in through the kitchen window.
Options :
68634039225. 1
68634039226. 2

68634039227. 3
68634039228 4

Question Number : 7 Question Id : 6863409928 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Choose the correct option to change the following sentence into passive voice:-

It is believed that the thieves got in through the kitchen window.

1. It is believed that the thieves were got in through the kitchen window.

-2

. The thieves are believed to have got in through the kitchen window.
3. The thieves were believed to have got in through the kitchen window.
4. It was believed that the thieves had got m through the kitchen window.

Options :

68634039225. 1
68634039226. 2
68634039227. 3
68634039228. 4

Question Number : 7 Question Id : 6863409928 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Choose the correct option to change the following sentence into passive voice:-
It is believed that the thieves got in through the kitchen window:.

1. It 18 believed that the thieves were got in through the kitchen window.

b2

. The thieves are believed to have got in through the kitchen window.
3. The thieves were believed to have got i through the kitchen window.
4. It was believed that the thieves had got in through the kitchen window.

Options :

68634039225. 1
68634039226. 2
68634039227. 3
68634039228. 4

Question Number : 8 Question Id : 6863409929 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A MAVERICK in the publishing world . she blazes her own trail travelling around the world for her book
reading events,

Which of the following words is closest in meaning to the word in capital letters:
1. AMATEUR
2. NON-CONFORMIST
3. CAVALIER
4. PEDANTIC

Options :

68634039229. 1
68634039230. 2
68634039231. 3
68634039232. 4

Question Number : 8 Question Id : 6863409929 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A MAVERICK in the publishing world . she blazes her own trail travelling around the world for her book
reading events,

Which of the following words is closest in meaning to the word in capital letters:
1. AMATEUR
2. NON-CONFORMIST
3. CAVALIER
4. PEDANTIC

Options :

68634039229. 1
68634039230. 2
68634039231. 3
68634039232. 4

Question Number : 8 Question Id : 6863409929 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A MAVERICEK in the publishing world . she blazes her own trail travelling around the world for her book
reading events.

Which of the following words is closest in meaning to the word in capital letters:
1. AMATEUR
2. NON-CONFORMIST
3. CAVALIER
4. PEDANTIC

Options :

68634039229. 1
68634039230. 2
68634039231. 3
68634039232. 4

Question Number : 9 Question Id : 6863409930 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A container for holding alcoholie drinks, especially wine :-

1. Deja vu
2. Dragent
3. Decanter
4. Drudgery

Options :

68634039233. 1

68634039234. 2

68634039235. 3
68634039236. 4

Question Number : 9 Question Id : 6863409930 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
A container for holding alcoholie drinks, especially wine :-
1. Deja vu
2. Dragent

3. Decanter

i

. Drudgery

Options :

68634039233. 1
68634039234 2
68634039235. 3
68634039236. 4

Question Number : 9 Question Id : 6863409930 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

A container for holding alcoholie drinks, especially wine :-

1. Deja vu

12

. Dragent

3. Decanter

i

. Drudgery

Options :
68634039233. 1
68634039234. 2



68634039235. 3
68634039236. 4

Question Number : 10 Question Id : 6863409931 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

choose the correctly spelt word from the options given below :-

1. CARICATURE

|

. CARECACHUR
3. CARRICATURE

4. CARIKATURE

Options :

68634039237. 1
68634039238. 2
68634039239. 3
68634039240. 4

Question Number : 10 Question Id : 6863409931 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

choose the correctly spelt word from the options given below :-

1. CARICATURE

|

. CARECACHUR
3. CARRICATURE

4. CARIKATURE

Options :

68634039237. 1
68634039238. 2
68634039239. 3
68634039240. 4

Question Number : 10 Question Id : 6863409931 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



choose the correctly spelt word from the options given below :-

1. CARICATURE

[ ]

. CARECACHUR
3. CARRICATURE
4. CARIKATURE

Options :

68634039237. 1

68634039238. 2

68634039239. 3
68634039240. 4

Question Number : 11 Question Id : 6863409932 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

What 1s the value of X in the given proportion

14:10=X:15 ?

1. 20

-2

.21

3. 10

4. 18
Options :
68634039241. 1
68634039242. 2

68634039243. 3
68634039244 4

Question Number : 11 Question Id : 6863409932 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

What 1s the value of X m the given proportion

14:10=X:15 ?

1. 20

b2

.21

3.19

4. 18



Options :

68634039241. 1
68634039242. 2
68634039243. 3
68634039244. 4

Question Number : 11 Question Id : 6863409932 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

What 1s the value of X in the given proportion

14:10=X:15 ?

1. 20

-2

.|
3. 19

4. 18

Options :

68634039241. 1
68634039242. 2
68634039243. 3
68634039244. 4

Question Number : 12 Question Id : 6863409933 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The speeds of A and B are in the ratio 3:4. A takes 20 minutes more than B to reach the destination . In what
time does A reach the distination?

1. 2 hours

s | b2

| o]

hours

-1

s | B9

. 2 hours

L]

4, 1-= hours

Options :

68634039245. 1
68634039246. 2
68634039247. 3
68634039248. 4



Question Number : 12 Question Id : 6863409933 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The speeds of A and B are in the ratio 3:4. A takes 20 minutes more than B to reach the destination . In what
time does A reach the distination?

1. 2 hours

s | b2

hours

!J
s | B9

. 2 hours

L]

4, 1-= hours

Options :

68634039245. 1
68634039246. 2
68634039247. 3
68634039248. 4

Question Number : 12 Question Id : 6863409933 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The speeds of A and B are in the ratio 3:4. A takes 20 minutes more than B to reach the destination . In what
time does A reach the distination?

1. 2 hours

b | b2

-

hours

1

o | B2

. 2 hours

LS ]

4, 1= hours

Options :

68634039245. 1
68634039246. 2
68634039247. 3
68634039248 4

Question Number : 13 Question Id : 6863409934 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The difference between simple interest and compound mterest on a certain sum at 5% per annum for 2 vears 1s
Z25. What 1s the sum invested ?

1. 26.000

| )

. 28.400
3.310,000
4.312.000

Options :

68634039249. 1
68634039250. 2
68634039251. 3
68634039252. 4

Question Number : 13 Question Id : 6863409934 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The difference between simple interest and compound interest on a certain sum at 5% per annum for 2 vears is
Z25. What 1s the sum invested ?

1. 26.000

[ ]

. 28.400
3.210.000
4.312.000

Options :

68634039249. 1
68634039250. 2
68634039251. 3
68634039252. 4

Question Number : 13 Question Id : 6863409934 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The difference between simple interest and compound mterest on a certain sum at 5% per annum for 2 vears 1s
Z25. What 1s the sum invested ?

1. 26.000

| )

. 28.400

3.310,000

4,312,000



Options :

68634039249. 1
68634039250. 2
68634039251. 3
68634039252. 4

Question Number : 14 Question Id : 6863409935 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A vegetable vendor buys 100kg tomatoes at the rate of Rs18 and spent Rs120 as cartage . He sells 80Kg
tomatoes at Rs25/kg and 16kg tomatoes at Rs20/kg. Remaining tomatoes got rotten and could not be sold.
Find his profit percentage { correct to one decimal place )

1.15.7%

b
L
-1
n
[=]

)
O‘\.

4. 21.6%

Options :

68634039253. 1
68634039254. 2
68634039255. 3
68634039256. 4

Question Number : 14 Question Id : 6863409935 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A vegetable vendor buys 100kg tomatoes at the rate of Rs18 and spent Rs120 as cartage . He sells 80Kg
tomatoes at Rs25/keg and 16kg tomatoes at Rs20/kg. Remaining tomatoes got rotten and could not be sold.
Find his profit percentage { correct to one decimal place )

1.15.7%

to
i
. |
Ln
[=]
y
G“\.

4. 21.6%

Options :

68634039253. 1
68634039254, 2
68634039255. 3
68634039256. 4

Question Number : 14 Question Id : 6863409935 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A vegetable vendor buys 100kg tomatoes at the rate of Rs18 and spent Rs120 as cartage . He sells 80Kg
tomatoes at Rs25/keg and 16kg tomatoes at Rs20/kg. Remaining tomatoes got rotten and could not be sold.
Find his profit percentage { correct to one decimal place )

1.3

h

i
o

| o]

17.5%
3. 20.8%
4. 21.6%

Options :

68634039253. 1
68634039254. 2
68634039255. 3
68634039256. 4

Question Number : 15 Question Id : 6863409936 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A window is in the form of a rectangle surmounted by a semicircle. Perimeter of the window is 4.6m and
o o B

; — , g - 3
height of the rectangular portion 1s 0.5m . then find the radius of the semicircular portion | Take x = -‘?-J
\

del

1. 0.6m

-

. 0L8m
3. 1.4m
4. 0.7m

Options :

68634039257. 1
68634039258. 2
68634039259. 3
68634039260. 4

Question Number : 15 Question Id : 6863409936 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A window 1s in the form of a rectangle surmounted by a semicircle. Perimeter of the window 1s 4.6m and

- — . _— ; . 23
height of the rectangular portion 1s 0.5m . then find the radius of the semicircular portion | Take x = -‘?--J
A

S Sm
del
1. 0.6m
2.0.8m
3. 1.4m
4.0.7m
Options :

68634039257. 1
68634039258. 2
68634039259. 3
68634039260. 4

Question Number : 15 Question Id : 6863409936 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A window is in the form of a rectangle surmounted by a semicircle. Perimeter of the window is 4.6m and

; — : i I 22
height of the rectangular portion 1s 0.5m . then find the radius of the semicircular portion | Take x = -‘?--J
\

del

1. 0.6m

-

. (L.8m
3. 1.4m
4. 0.7m

Options :

68634039257. 1
68634039258. 2



68634039259. 3
68634039260. 4

Question Number : 16 Question Id : 6863409937 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

This question consists of a question and two statements .

How is A related to B ?

L. B 1s the wife of C . B and D are the only children of E. G 1s the only daughter of C. A is the grandaughter of
E.

II. G 18 married to H. B 18 mother-in-law of H. B is the only daughter of E and L . A is the grandchild of E.

1. If the data in statement I alone 1s sufficient to answer the question
2. If the data in statement IT alone is sufficient to answer the question
3. If the data either in statement I alone or in statement II alone is sufficient to answer the question
4. If the data even in both statemnts together are not sufficient to answeer thw question

Options :

68634039261. 1

68634039262. 2

68634039263. 3
68634039264. 4

Question Number : 16 Question Id : 6863409937 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

This question consists of a question and two statements .
How is A related to B ?

L. B 1s the wife of C . B and D are the only children of E. G 1s the only daughter of C. A is the grandaughter of
E.

II. G 18 married to H. B 18 mother-in-law of H. B is the only daughter of E and L . A is the grandchild of E.
1. If the data in statement I alone 1s sufficient to answer the question
2. If the data in statement IT alone is sufficient to answer the question
3. If the data either in statement I alone or in statement II alone is sufficient to answer the question
4. If the data even in both statemnts together are not sufficient to answeer thw question
Options :

68634039261. 1
68634039262. 2



68634039263. 3
68634039264. 4

Question Number : 16 Question Id : 6863409937 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

This question consists of a question and two statements .

How is A related to B ?

L. B 1s the wife of C . B and D are the only children of E. G 1s the only daughter of C. A is the grandaughter of
E.

II. G 18 married to H. B 18 mother-in-law of H. B is the only daughter of E and L . A is the grandchild of E.

1. If the data in statement I alone 1s sufficient to answer the question

{ B}

. If the data in statement IT alone is sufficient to answer the question
3. If the data either in statement I alone or in statement II alone is sufficient to answer the question
4. If the data even in both statemnts together are not sufficient to answeer thw question

Options :

68634039261. 1
68634039262. 2
68634039263. 3
68634039264. 4

Question Number : 17 Question Id : 6863409938 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What will be the next term of the given number series:

£

wh

8.1

Lh

28517

1.90

b2

81
3.93

4. 94

Options :

68634039265. 1
68634039266. 2
68634039267 3
68634039268. 4

Question Number : 17 Question Id : 6863409938 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
What will be the next term of the given number series:

 EREA

.81

n
[ ]

285172

1. 90

b2

.81
3.93

4. 94

Options :

68634039265. 1
68634039266. 2
68634039267 3
68634039268. 4

Question Number : 17 Question Id : 6863409938 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
What will be the next term of the given number series:

 EREA

.81

n
[ ]

285172

1. 90

2

.91
3.93

4.94

Options :

68634039265. 1
68634039266. 2
68634039267 3
68634039268. 4

Question Number : 18 Question Id : 6863409939 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A man is facing towards east and turns through 45° clockwise | again 180° clockwise and then turns through
2707 anticlockwise. In which direction is he facing now?

1. North-west
2. North-east
3. South-west
4. South-east

Options :

68634039269. 1
68634039270. 2
68634039271. 3
68634039272. 4

Question Number : 18 Question Id : 6863409939 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A man is facing towards east and turns through 45° clockwise | again 180° clockwise and then turns through
270° anticlockwise. In which direction is he facing now?

1. North-west
2. North-east
3. South-west
4. South-east
Options :
68634039269. 1
68634039270. 2

68634039271. 3
68634039272. 4

Question Number : 18 Question Id : 6863409939 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A man is facing towards east and turns through 45° clockwise | again 180° clockwise and then turns through
2707 anticlockwise. In which direction is he facing now?

1. North-west

| B

. North-east

3. South-west

4. South-east



Options :

68634039269. 1
68634039270. 2
68634039271. 3
68634039272. 4

Question Number : 19 Question Id : 6863409940 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Find out which of these conclusions defimtely follows from the given statement
Statement: Mr. Satbir is one of the probable candidates short - listed for the post of director of P.C.M Institute
Coclusion: I Mr. Satbir will be selected as director of P.C.M Institute

IT WMr. Sathir will not be selected as director of P.C.M Institute

1. Only conclusion I follows

| B

. Only conclusion IT follows

. Either I or IT follows

g

4. Neither I not II follows
Options :
68634039273. 1
68634039274.2

68634039275. 3
68634039276. 4

Question Number : 19 Question Id : 6863409940 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Find out which of these conclusions definitely follows from the given statement

Statement: Mr. Satbir is one of the probable candidates short - listed for the post of director of P.C.M Institute

Coclusion: I Mr. Satbir will be selected as director of P.C M Institute

IT Mr. Satbir will not be selected as director of P.C. M Institute

1. Only conclusion I follows

| B

. Only conclusion II follows

. Either I or II follows

L]

4. Neither I not II follows

Options :
68634039273. 1
68634039274. 2



68634039275. 3
68634039276. 4

Question Number : 19 Question Id : 6863409940 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Find out which of these conclusions definitely follows from the given statement
Statement: Mr. Satbir is one of the probable candidates short - listed for the post of director of P.C.M Institute
Coclusion: I Mr. Satbir will be selected as director of P.C. M Institute

II Mr. Satbir will not be selected as director of P.C.M Institute

1. Only conclusion I follows

| B

. Only conclusion II follows

. Either I or II follows

L]

4. Neither I not IT follows

Options :

68634039273. 1
68634039274. 2
68634039275. 3
68634039276. 4

Question Number : 20 Question Id : 6863409941 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Find out which of the answer figure(1).(2).(3) ands (4) complete the figure matrix

PROBLEM FIGURE ANSWEER FIGURES
w # 5
o XK oOwO® € ¥
X x o W HoMox
XM X
v w * = = * ®x o® X - S
’ ? M @) ® @
1.1
2.2
3.3
4.4

Options :



68634039277. 1
68634039278. 2
68634039279. 3
68634039280. 4

Question Number : 20 Question Id : 6863409941 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Find out which of the answer figure(1).(2).(3) ands (4) complete the figure matrix

PROBLEM FIGURE ANSWEER FIGURES
5 " - 1
w X x X X X K X X
" e 2 & ®oOM X
X X X
o o x x x X % oO¥ =% X X X
’ ? M @ 3 @
1.1
22
33
4.4
Options :

68634039277. 1
68634039278. 2
68634039279. 3
68634039280. 4

Question Number : 20 Question Id : 6863409941 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Find out which of the answer figure(1).(2).(3) ands (4) complete the figure matrix

PROELEM FIGURE ANSWER FIGURES
4 b i
" = . 8 b S 4 A S
® x i w HoK X
HoOo¥ XK
o w * x X S woow % W OH M
’ ? m ) 3) @
1.1
2.2
5
4. 4
Options :

68634039277. 1
68634039278. 2
68634039279. 3
68634039280. 4

Question Number : 21 Question Id : 6863409942 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The visible yellow face of sun is called

1. Corona

[ 5]

. Tonosphere

L 5]

. Stratosphere
4. Photosphere

Options :

68634039281. 1
68634039282. 2
68634039283. 3
68634039284. 4

Question Number : 21 Question Id : 6863409942 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The visible yellow face of sun is called

1. Corona

(]

. Tonosphere

[ 5]

. Stratosphere
4. Photosphere

Options :

68634039281. 1
68634039282. 2
68634039283. 3
68634039284. 4

Question Number : 21 Question Id : 6863409942 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The visible yellow face of sun is called

1. Corona

(]

. Tonosphere

L

. Stratosphere
4. Photosphere

Options :

68634039281. 1
68634039282. 2
68634039283. 3
68634039284. 4

Question Number : 22 Question Id : 6863409943 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

NATIONAL PARK STATE
Corbett National Park 1. |Gujarat
(Gir Wational Park II. [Karnataka

o o]w[>

Shivpuri National Park | IIL [Untarakhand
Bandhipur National park] IV. [Madhva pradesh

Choose the correct answer from the options given below:

1. A-IIL B-1. C-II. D-IV

| B

. A-IIL B-I, C-IV, D-II
3. A-III, B-IV, B-1. D-II
4. A-IV, B-11, C-1, D-IV

Options :

68634039285. 1
68634039286. 2
68634039287. 3
68634039288. 4

Question Number : 22 Question Id : 6863409943 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

NATIONAL PARK STATE
Corbett National Park 1. |Gujarat
Grir National Park II. |[Karmataka

Shivpuri National Park | 11T [Urtarakhand
Bandhipur National park] IV. [Madhyva pradesh

o|o[w[>

Choose the correct answer from the options given below:

1. A-ITL B-1, C-II, D-IV

| B

A-IIL B-I, C-IV, D-IT
3. A-IIT, B-IV, B-1. D-IT
4. A-IV, B-11, C-1, D-IV

Options :

68634039285. 1
68634039286. 2
68634039287 3
68634039288. 4

Question Number : 22 Question Id : 6863409943 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

NATIONAL PARK STATE
Corbett National Park 1. |Gujarat
Gir National Park II. |[Karnataka

Shivpuri National Park | IIL [Uttarakhand
Bandhipur National park] TV, [Madhya pradesh

ofofw[>

Choose the correct answer from the options given below:

1. A-IIL B-1. C-II, D-IV

|

. A-IIL B-IL C-IV, D-II
3. A-III, B-IV. B-1. D-II
4. A-IV, B-11, C-1, D-IV

Options :

68634039285. 1
68634039286. 2
68634039287. 3
68634039288. 4

Question Number : 23 Question Id : 6863409944 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Under which article. Parliament has been given powers to amend the constituion ?

1. Asticle 22

| ]

. Adticle 274
3. Article 368

4. Article 102

Options :

68634039289. 1
68634039290. 2
68634039291. 3
68634039292. 4

Question Number : 23 Question Id : 6863409944 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 23 Question Id : 6863409944 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Under which article. Parliament has been given powers to amend the constituion ?

1. Auticle 22
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4. Article 102

Options :
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Question Number : 24 Question Id : 6863409945 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Statement I:
On decreasing the temperature of the metal . its resistance creases.

Statement II: On increasing the temperature of semiconductors, its resistance decreases .

In the light of the above statements. choose the most appropriate answer from the options given below

1. Both Statement [ and Statement II are correct
2. Both statement I and statement IT are incorrect
3. Statement I is correct but Statement 11 1s incorrect
4. Statement I is incorrect but Statement IT is correct

Options :

68634039293. 1

68634039294. 2

68634039295. 3
68634039296. 4

Question Number : 24 Question Id : 6863409945 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Statement [:

On decreasing the temperature of the metal . its resistance increases.

Statement II: On increasing the temperature of semiconductors. ifs resistance decreases .

In the light of the above statements. choose the most appropriate answer from the options given below

1. Both Statement [ and Statement II are correct
2. Both statement I and statement II are incorrect
3. Statement I i3 correct but Statement II is incorrect
4, Statement I is incorrect but Statement IT is correct

Options :

68634039293. 1

68634039294. 2

68634039295. 3
68634039296. 4

Question Number : 24 Question Id : 6863409945 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
Statement I:
On decreasing the temperature of the metal . its resistance increases.

Statement II: On increasing the temperature of semiconductors. its resistance decreases .

In the light of the above statements. choose the most appropriate answer from the options given below
1. Both Statement [ and Statement II are correct
2. Both statement I and statement II are incorrect
3. Statement I 1s correct but Statement II is incorrect

4. Statement I is incorrect but Statement IT is correct

Options :

68634039293. 1
68634039294. 2
68634039295. 3
68634039296. 4

Question Number : 25 Question Id : 6863409946 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which large Harappan site 1s located in Haryana ?
1. Dholavira
2. Alamgirpur
3. Kalibangan

4. Rakhigarhi

Options :

68634039297. 1
68634039298. 2
68634039299. 3
68634039300. 4

Question Number : 25 Question Id : 6863409946 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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2. Alamgirpur
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Options :
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68634039298. 2
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68634039300. 4

Question Number : 25 Question Id : 6863409946 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which large Harappan site 1s located in Haryana ?

1. Dholavira
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3. Kalibangan

4. Ralkhigarhi

Options :

68634039297. 1
68634039298. 2
68634039299. 3
68634039300. 4
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Question Number : 26 Question Id : 6863409947 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
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68634039303. 3
68634039304. 4
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68634039307. 3
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68634039312. 4
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Correct Marks : 4 Wrong Marks : 1
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Correct Marks : 4 Wrong Marks : 1

e B e fi.f:}cig:}"d@f ;E;

—t

NOrA

Z. ,.;JLGJJ

a2

=

At

Options :

68634039321.
68634039322,
68634039323.
68634039324,

B NS S

Question Number : 31 Question Id : 6863409952 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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Correct Marks : 4 Wrong Marks : 1
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Correct Marks : 4 Wrong Marks : 1
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Correct Marks : 4 Wrong Marks : 1

7
______ ZalbfEas Pl s

it

' Jﬂyl:«ﬂj

- merlils

| B

[#%)

el

patipe

Options :

68634039333. 1
68634039334. 2
68634039335. 3
68634039336. 4

s

Question Number : 34 Question Id : 6863409955 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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68634039344. 4
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Correct Marks : 4 Wrong Marks : 1
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Correct Marks : 4 Wrong Marks : 1
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Correct Marks : 4 Wrong Marks : 1
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No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

N
=

Syl

Options :

68634039357. 1
68634039358. 2
68634039359. 3
68634039360. 4

Question Number : 41 Question Id : 6863409962 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634039361. 1
68634039362. 2
68634039363. 3
68634039364. 4

Question Number : 41 Question Id : 6863409962 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

g B Ui 7

o
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Options :

68634039361. 1
68634039362. 2
68634039363. 3
68634039364. 4

Question Number : 41 Question Id : 6863409962 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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e
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Options :

68634039361. 1
68634039362. 2
68634039363. 3
68634039364. 4

Question Number : 42 Question Id : 6863409963 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634039365. 1
68634039366. 2
68634039367. 3
68634039368. 4

Question Number : 42 Question Id : 6863409963 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634039365. 1
68634039366. 2
68634039367. 3
68634039368. 4

Question Number : 42 Question Id : 6863409963 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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4. el s

Options :

68634039365. 1
68634039366. 2
68634039367. 3
68634039368. 4

Question Number : 43 Question Id : 6863409964 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634039369. 1
68634039370. 2
68634039371. 3
68634039372. 4

Question Number : 43 Question Id : 6863409964 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

bbby 2 i s P R

2. gape
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4. LTt

Options :

68634039369. 1
68634039370. 2
68634039371. 3
68634039372. 4

Question Number : 43 Question Id : 6863409964 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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2o gaie
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Options :

68634039369. 1
68634039370. 2
68634039371. 3
68634039372. 4

Question Number : 44 Question Id : 6863409965 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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4. Tulstl

Options :

68634039373. 1
68634039374. 2
68634039375. 3
68634039376. 4

Question Number : 44 Question Id : 6863409965 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634039373. 1
68634039374. 2
68634039375. 3
68634039376. 4

Question Number : 44 Question Id : 6863409965 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634039373. 1
68634039374. 2
68634039375. 3
68634039376. 4

Question Number : 45 Question Id : 6863409966 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634039377. 1
68634039378. 2
68634039379. 3
68634039380. 4

Question Number : 45 Question Id : 6863409966 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634039377. 1
68634039378. 2
68634039379. 3
68634039380. 4

Question Number : 45 Question Id : 6863409966 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634039377. 1
68634039378. 2
68634039379. 3
68634039380. 4

Question Number : 46 Question Id : 6863409967 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
68634039381. 1
68634039382. 2

68634039383. 3
68634039384. 4

Question Number : 46 Question Id : 6863409967 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
68634039381. 1
68634039382. 2

68634039383. 3
68634039384. 4

Question Number : 46 Question Id : 6863409967 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
68634039381. 1
68634039382. 2

68634039383. 3
68634039384. 4

Question Number : 47 Question Id : 6863409968 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634039385. 1
68634039386. 2
68634039387. 3
68634039388. 4

Question Number : 47 Question Id : 6863409968 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634039385. 1
68634039386. 2
68634039387. 3
68634039388. 4

Question Number : 47 Question Id : 6863409968 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634039385. 1
68634039386. 2
68634039387. 3
68634039388. 4

Question Number : 48 Question Id : 6863409969 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634039389. 1
68634039390. 2
68634039391. 3
68634039392 4

Question Number : 48 Question Id : 6863409969 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634039389. 1
68634039390. 2
68634039391. 3
68634039392. 4

Question Number : 48 Question Id : 6863409969 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634039389. 1
68634039390. 2
68634039391. 3
68634039392. 4

Question Number : 49 Question Id : 6863409970 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634039393. 1
68634039394. 2
68634039395. 3
68634039396. 4

Question Number : 49 Question Id : 6863409970 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634039393. 1
68634039394. 2
68634039395. 3
68634039396. 4

Question Number : 49 Question Id : 6863409970 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634039393. 1
68634039394. 2
68634039395. 3
68634039396. 4

Question Number : 50 Question Id : 6863409971 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634039397. 1
68634039398. 2
68634039399. 3
68634039400. 4

Question Number : 50 Question Id : 6863409971 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
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Options :

68634039397. 1
68634039398. 2
68634039399. 3
68634039400. 4

Question Number : 50 Question Id : 6863409971 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. Feer
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4. Fess

Options :

68634039397. 1
68634039398. 2
68634039399. 3
68634039400. 4

Question Number : 51 Question Id : 6863409972 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634039401. 1
68634039402. 2
68634039403. 3
68634039404. 4

Question Number : 51 Question Id : 6863409972 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634039401. 1
68634039402. 2
68634039403. 3
68634039404. 4

Question Number : 51 Question Id : 6863409972 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634039401. 1
68634039402. 2
68634039403. 3
68634039404. 4

Question Number : 52 Question Id : 6863409973 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634039405. 1
68634039406. 2
68634039407 3
68634039408. 4

Question Number : 52 Question Id : 6863409973 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634039405. 1
68634039400. 2
68634039407. 3
68634039408. 4

Question Number : 52 Question Id : 6863409973 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634039405. 1
68634039406. 2
68634039407. 3
68634039408. 4

Question Number : 53 Question Id : 6863409974 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634039409. 1
68634039410. 2
68634039411. 3
68634039412. 4

Question Number : 53 Question Id : 6863409974 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634039409. 1
68634039410. 2
68634039411. 3
68634039412. 4

Question Number : 53 Question Id : 6863409974 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634039409. 1
68634039410. 2
68634039411. 3
68634039412. 4

Question Number : 54 Question Id : 6863409975 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634039413. 1
68634039414. 2
68634039415. 3
68634039416. 4

Question Number : 54 Question Id : 6863409975 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634039413. 1
68634039414. 2
68634039415. 3
68634039416. 4

Question Number : 54 Question Id : 6863409975 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634039413. 1
68634039414. 2
68634039415. 3
68634039416. 4

Question Number : 55 Question Id : 6863409976 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

SV 7 N

s
(ﬁ~
o
k!

4 PO

Options :

68634039417. 1
68634039418. 2
68634039419. 3
68634039420. 4

Question Number : 55 Question Id : 6863409976 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634039417. 1
68634039418. 2
68634039419. 3
68634039420. 4

Question Number : 55 Question Id : 6863409976 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634039417. 1
68634039418. 2
68634039419. 3
68634039420. 4

Question Number : 56 Question Id : 6863409977 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634039421. 1
68634039422. 2
68634039423. 3
68634039424. 4

Question Number : 56 Question Id : 6863409977 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634039421. 1
68634039422. 2
68634039423. 3
68634039424. 4

Question Number : 56 Question Id : 6863409977 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634039421. 1
68634039422. 2
68634039423. 3
68634039424. 4

Question Number : 57 Question Id : 6863409978 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634039425. 1
68634039426. 2
68634039427. 3
68634039428. 4

Question Number : 57 Question Id : 6863409978 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634039425. 1
68634039426. 2
68634039427. 3
68634039428. 4

Question Number : 57 Question Id : 6863409978 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

- l;fduufd?.ﬂ}ﬁwﬁf: 7

4. LS

Options :

68634039425. 1
68634039426. 2
68634039427. 3
68634039428. 4

Question Number : 58 Question Id : 6863409979 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
68634039429. 1
68634039430. 2

68634039431. 3
68634039432. 4

Question Number : 58 Question Id : 6863409979 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
68634039429. 1
68634039430. 2

68634039431. 3
68634039432. 4

Question Number : 58 Question Id : 6863409979 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
68634039429. 1
68634039430. 2

68634039431. 3
68634039432. 4

Question Number : 59 Question Id : 6863409980 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634039433. 1
68634039434. 2
68634039435. 3
68634039436. 4

Question Number : 59 Question Id : 6863409980 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634039433. 1
68634039434. 2
68634039435. 3
68634039436. 4

Question Number : 59 Question Id : 6863409980 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634039433. 1
68634039434 2
68634039435. 3
68634039436. 4

Question Number : 60 Question Id : 6863409981 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634039437. 1
68634039438. 2
68634039439. 3
68634039440. 4

Question Number : 60 Question Id : 6863409981 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634039437. 1
68634039438. 2
68634039439. 3
68634039440. 4

Question Number : 60 Question Id : 6863409981 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634039437. 1
68634039438. 2
68634039439. 3
68634039440. 4

Question Number : 61 Question Id : 6863409982 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634039441. 1
68634039442. 2
68634039443. 3
68634039444. 4

Question Number : 61 Question Id : 6863409982 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634039441. 1
68634039442. 2
68634039443. 3
68634039444. 4

Question Number : 61 Question Id : 6863409982 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634039441. 1
68634039442 2
68634039443. 3
68634039444. 4

Question Number : 62 Question Id : 6863409983 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634039445. 1
68634039446. 2
68634039447. 3
68634039448. 4

Question Number : 62 Question Id : 6863409983 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634039445. 1
68634039446. 2
68634039447. 3
68634039448. 4

Question Number : 62 Question Id : 6863409983 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634039445. 1
68634039446. 2
68634039447. 3
68634039448. 4

Question Number : 63 Question Id : 6863409984 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

------- Lt “u;vf 1
1. VSO
2.8VO
3. SQV
4.08V
Options :

68634039449. 1
68634039450. 2
68634039451. 3
68634039452. 4

Question Number : 63 Question Id : 6863409984 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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3. SOV

4.08V

Options :

68634039449. 1
68634039450. 2
68634039451. 3
68634039452. 4

Question Number : 63 Question Id : 6863409984 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. VSO
2. 8SVO
3. SOV
4.08V
Options :

68634039449. 1
68634039450. 2
68634039451. 3
68634039452. 4

Question Number : 64 Question Id : 6863409985 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
68634039453. 1
68634039454, 2
68634039455. 3
68634039456. 4

Question Number : 64 Question Id : 6863409985 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634039453. 1
68634039454. 2
68634039455. 3
68634039456. 4

Question Number : 64 Question Id : 6863409985 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634039453. 1
68634039454.2
68634039455. 3
68634039456. 4

Question Number : 65 Question Id : 6863409986 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634039457. 1
68634039458. 2
68634039459. 3
68634039460. 4

Question Number : 65 Question Id : 6863409986 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634039457. 1
68634039458. 2
68634039459. 3
68634039460. 4

Question Number : 65 Question Id : 6863409986 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634039457. 1
68634039458. 2
68634039459. 3
68634039460. 4

Question Number : 66 Question Id : 6863409987 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634039461. 1
68634039462. 2
68634039463. 3
68634039464. 4

Question Number : 66 Question Id : 6863409987 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
W
Lgﬁt”é}lfu’{)/ﬁj;g};!;:d}ﬁbﬂ::f&i
I E 5S4
_,‘;Jgﬁf_i@ggg,;,ﬁubn,:lmr’:&:

i K

L L,-{_.!%'JJL;"JEL;!&.‘

2 ek ;;5'{'53”!

3. hﬁf_;wd'-{);:ﬁﬁ

4. é‘ﬁ:,;;wéﬁ
Options :

68634039461. 1
68634039462. 2
68634039463. 3
68634039464. 4



Question Number : 66 Question Id : 6863409987 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634039461. 1
68634039462. 2
68634039463. 3
68634039464. 4

Question Number : 67 Question Id : 6863409988 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634039465. 1
68634039466. 2
68634039467. 3



68634039468. 4

Question Number : 67 Question Id : 6863409988 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634039465. 1
68634039466. 2
68634039467. 3
68634039468. 4

Question Number : 67 Question Id : 6863409988 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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68634039465. 1
68634039466. 2
68634039467. 3
68634039468. 4

Question Number : 68 Question Id : 6863409989 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634039469. 1
68634039470. 2
68634039471. 3
68634039472. 4

Question Number : 68 Question Id : 6863409989 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634039469. 1
68634039470. 2
68634039471. 3
68634039472. 4

Question Number : 68 Question Id : 6863409989 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634039469. 1
68634039470. 2
68634039471. 3
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Question Number : 69 Question Id : 6863409990 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634039473. 1
68634039474. 2
68634039475. 3
68634039476. 4

Question Number : 69 Question Id : 6863409990 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634039473. 1
68634039474. 2
68634039475. 3
68634039476. 4



Question Number : 69 Question Id : 6863409990 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634039473. 1
68634039474. 2
68634039475. 3
68634039476. 4

Question Number : 70 Question Id : 6863409991 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634039477. 1
68634039478. 2



68634039479. 3
68634039480. 4

Question Number : 70 Question Id : 6863409991 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634039477. 1
68634039478. 2
68634039479. 3
68634039480. 4

Question Number : 70 Question Id : 6863409991 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :



68634039477. 1
68634039478. 2
68634039479. 3
68634039480. 4

Question Number : 71 Question Id : 6863409992 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634039481. 1
68634039482. 2
68634039483. 3
68634039484. 4

Question Number : 71 Question Id : 6863409992 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634039481. 1
68634039482. 2
68634039483. 3
68634039484. 4

Question Number : 71 Question Id : 6863409992 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634039481. 1
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68634039483. 3
68634039484. 4



Question Number : 72 Question Id : 6863409993 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 72 Question Id : 6863409993 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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68634039487. 3
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Question Number : 72 Question Id : 6863409993 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 73 Question Id : 6863409994 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634039489. 1
68634039490. 2
68634039491. 3
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Question Number : 73 Question Id : 6863409994 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634039489. 1
68634039490. 2
68634039491. 3
68634039492. 4

Question Number : 73 Question Id : 6863409994 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634039489. 1
68634039490. 2
68634039491. 3
68634039492. 4

Question Number : 74 Question Id : 6863409995 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

o

Options :

68634039493. 1
68634039494. 2
68634039495. 3
68634039496. 4

Question Number : 74 Question Id : 6863409995 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634039493. 1
68634039494. 2
68634039495. 3
68634039496. 4

Question Number : 74 Question Id : 6863409995 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634039493. 1
68634039494. 2
68634039495. 3
68634039496. 4

Question Number : 75 Question Id : 6863409996 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634039497. 1
68634039498. 2
68634039499. 3
68634039500. 4

Question Number : 75 Question Id : 6863409996 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634039497. 1
68634039498. 2
68634039499. 3
68634039500. 4

Question Number : 75 Question Id : 6863409996 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634039497. 1
68634039498. 2
68634039499. 3
68634039500. 4

Question Number : 76 Question Id : 6863409997 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634039501. 1
68634039502. 2
68634039503. 3
68634039504. 4

Question Number : 76 Question Id : 6863409997 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634039501. 1
68634039502. 2
68634039503. 3
68634039504. 4

Question Number : 76 Question Id : 6863409997 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634039501. 1
68634039502. 2
68634039503. 3
68634039504. 4

Question Number : 77 Question Id : 6863409998 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634039505. 1
68634039506. 2
68634039507 3
68634039508. 4

Question Number : 77 Question Id : 6863409998 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634039505. 1
68634039506. 2
68634039507. 3
68634039508. 4

Question Number : 77 Question Id : 6863409998 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634039505. 1
68634039506. 2
68634039507. 3
68634039508. 4

Question Number : 78 Question Id : 6863409999 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634039509. 1
68634039510. 2
68634039511. 3
68634039512. 4

Question Number : 78 Question Id : 6863409999 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634039509. 1
68634039510. 2
68634039511. 3
68634039512. 4

Question Number : 78 Question Id : 6863409999 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634039509. 1
68634039510. 2
68634039511.3
68634039512. 4

Question Number : 79 Question Id : 68634010000 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634039513. 1
68634039514. 2
68634039515. 3
68634039516. 4

Question Number : 79 Question Id : 68634010000 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Lo if

| B

By
3. J::t'

1 A

Options :

68634039513. 1
68634039514. 2
68634039515. 3
68634039516. 4

Question Number : 79 Question Id : 68634010000 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634039513. 1
68634039514. 2
68634039515. 3
68634039516. 4

Question Number : 80 Question Id : 68634010001 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634039517. 1
68634039518. 2
68634039519. 3
68634039520. 4

Question Number : 80 Question Id : 68634010001 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634039517. 1
68634039518. 2
68634039519. 3
68634039520. 4

Question Number : 80 Question Id : 68634010001 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
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Options :

68634039517. 1
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Question Number : 81 Question Id : 68634010002 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634039521. 1
68634039522, 2
68634039523. 3
68634039524. 4



Question Number : 81 Question Id : 68634010002 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634039521. 1
68634039522. 2
68634039523. 3
68634039524. 4

Question Number : 81 Question Id : 68634010002 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 82 Question Id : 68634010003 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634039525. 1
68634039526. 2
68634039527. 3
68634039528. 4

Question Number : 82 Question Id : 68634010003 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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68634039525. 1
68634039526. 2
68634039527. 3
68634039528. 4

Question Number : 82 Question Id : 68634010003 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634039525. 1
68634039526. 2
68634039527. 3
68634039528. 4

Question Number : 83 Question Id : 68634010004 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634039529. 1
68634039530. 2
68634039531. 3
68634039532. 4

Question Number : 83 Question Id : 68634010004 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634039529. 1
68634039530. 2
68634039531. 3
68634039532. 4



Question Number : 83 Question Id : 68634010004 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634039529. 1
68634039530. 2
68634039531. 3
68634039532. 4

Question Number : 84 Question Id : 68634010005 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634039533. 1
68634039534. 2
68634039535. 3
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Question Number : 84 Question Id : 68634010005 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634039533. 1
68634039534. 2
68634039535. 3
68634039536. 4

Question Number : 84 Question Id : 68634010005 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
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68634039534. 2
68634039535. 3
68634039536. 4

Question Number : 85 Question Id : 68634010006 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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68634039537. 1
68634039538. 2
68634039539. 3
68634039540. 4

Question Number : 85 Question Id : 68634010006 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634039537. 1
68634039538. 2
68634039539. 3
68634039540. 4

Question Number : 85 Question Id : 68634010006 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634039537. 1
68634039538. 2
68634039539. 3
68634039540. 4

Question Number : 86 Question Id : 68634010007 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634039541. 1
68634039542. 2
68634039543. 3
68634039544. 4

Question Number : 86 Question Id : 68634010007 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634039541. 1
68634039542. 2
68634039543. 3
68634039544. 4

Question Number : 86 Question Id : 68634010007 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
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Question Number : 87 Question Id : 68634010008 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634039545. 1
68634039546. 2
68634039547. 3
68634039548. 4

Question Number : 87 Question Id : 68634010008 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
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Options :

68634039545. 1
68634039546. 2
68634039547. 3
68634039548. 4

Question Number : 87 Question Id : 68634010008 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

:fh,l'?lu_flff

202}, C =5)3_B 22 505-A
=P E =LK D

1. B&E

]

- BC&D
3. AC&D

4. AC&D

Options :

68634039545. 1
68634039546. 2
68634039547. 3
68634039548. 4

Question Number : 88 Question Id : 68634010009 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634039549. 1
68634039550. 2
68634039551. 3
68634039552. 4

Question Number : 88 Question Id : 68634010009 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634039549. 1
68634039550. 2
68634039551. 3
68634039552. 4

Question Number : 88 Question Id : 68634010009 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
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Options :

68634039549. 1
68634039550. 2
68634039551. 3
68634039552. 4

Question Number : 89 Question Id : 68634010010 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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. AC&D
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Options :

68634039553. 1
68634039554. 2
68634039555. 3
68634039556. 4

Question Number : 89 Question Id : 68634010010 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
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. AC&D

4. BC&E

Options :

68634039553. 1
68634039554. 2
68634039555. 3
68634039556. 4

Question Number : 89 Question Id : 68634010010 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634039553. 1
68634039554. 2
68634039555. 3
68634039556. 4

Question Number : 90 Question Id : 68634010011 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634039557. 1
68634039558. 2
68634039559. 3
68634039560. 4

Question Number : 90 Question Id : 68634010011 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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2. B&D
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Options :

68634039557. 1
68634039558. 2
68634039559. 3
68634039560. 4

Question Number : 90 Question Id : 68634010011 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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68634039557. 1
68634039558. 2
68634039559. 3
68634039560. 4

Question Number : 91 Question Id : 68634010012 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634039561. 1
68634039562. 2
68634039563. 3
68634039564. 4

Question Number : 91 Question Id : 68634010012 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634039561. 1
68634039562. 2
68634039563. 3
68634039564. 4

Question Number : 91 Question Id : 68634010012 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634039561. 1
68634039562. 2
68634039563. 3
68634039564. 4

Question Number : 92 Question Id : 68634010013 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634039565. 1
68634039566. 2
68634039567. 3
68634039568. 4

Question Number : 92 Question Id : 68634010013 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634039565. 1
68634039566. 2
68634039567. 3
68634039568. 4

Question Number : 92 Question Id : 68634010013 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634039565. 1
68634039566. 2
68634039567. 3
68634039568. 4

Question Number : 93 Question Id : 68634010014 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634039569. 1
68634039570. 2
68634039571. 3
68634039572. 4

Question Number : 93 Question Id : 68634010014 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634039569. 1
68634039570. 2
68634039571. 3
68634039572. 4

Question Number : 93 Question Id : 68634010014 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634039569. 1
68634039570. 2
68634039571. 3
68634039572. 4

Question Number : 94 Question Id : 68634010015 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634039573. 1
68634039574. 2
68634039575. 3
68634039576. 4

Question Number : 94 Question Id : 68634010015 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634039573. 1
68634039574. 2
68634039575. 3
68634039576. 4

Question Number : 94 Question Id : 68634010015 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634039573. 1
68634039574. 2
68634039575. 3
68634039576. 4

Question Number : 95 Question Id : 68634010016 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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4. (Aciii, B-iv,C-i &D-ii)



Options :

68634039577. 1
68634039578. 2
68634039579. 3
68634039580. 4

Question Number : 95 Question Id : 68634010016 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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s

. (A-ii,B-i,C-iii, & D-iv)
4. (A-iii,B-iv,C-i &D-ii)

Options :

68634039577. 1
68634039578. 2
68634039579. 3
68634039580. 4

Question Number : 95 Question Id : 68634010016 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634039577. 1
68634039578. 2
68634039579. 3
68634039580. 4

Question Number : 96 Question Id : 68634010017 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634039581. 1
68634039582. 2
68634039583. 3
68634039584. 4

Question Number : 96 Question Id : 68634010017 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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4. (A-i,B-ii,C-iv&D-iii)

Options :

68634039581. 1
68634039582. 2
68634039583. 3
68634039584. 4

Question Number : 96 Question Id : 68634010017 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634039581. 1
68634039582. 2
68634039583. 3
68634039584. 4

Question Number : 97 Question Id : 68634010018 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634039585. 1
68634039586. 2
68634039587. 3
68634039588. 4

Question Number : 97 Question Id : 68634010018 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634039585. 1
68634039586. 2
68634039587. 3
68634039588. 4

Question Number : 97 Question Id : 68634010018 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634039585. 1
68634039586. 2
68634039587. 3
68634039588. 4

Question Number : 98 Question Id : 68634010019 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :



68634039589. 1
68634039590. 2
68634039591. 3
68634039592. 4

Question Number : 98 Question Id : 68634010019 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634039589. 1
68634039590. 2
68634039591. 3
68634039592. 4

Question Number : 98 Question Id : 68634010019 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
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68634039591. 3
68634039592. 4

Question Number : 99 Question Id : 68634010020 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634039593. 1
68634039594. 2
68634039595. 3
68634039596. 4

Question Number : 99 Question Id : 68634010020 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634039593. 1
68634039594. 2
68634039595. 3
68634039596. 4

Question Number : 99 Question Id : 68634010020 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634039593. 1
68634039594. 2
68634039595. 3
68634039596. 4

Question Number : 100 Question Id : 68634010021 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634039597. 1
68634039598. 2
68634039599. 3
68634039600. 4

Question Number : 100 Question Id : 68634010021 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 100 Question Id : 68634010021 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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